Glasgow City Council

Transfers Report

This report contains the transfers results.

Contest Name Ward 7 Langside

Valid Votes
Positions to be Filled
Quota

11,358 4 2,272

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Susan AITKEN	Scottish National Party (SNP)	2,899
Holly BRUCE	Elect a Scottish Green Councillor	3,173
Stephen Ignatius DOCHERTY	Glasgow Labour	1,870
Paul LEINSTER	Scottish National Party (SNP)	775
Aileen Mary MCKENZIE	Glasgow Labour	1,163
Chigozie Anne OSUCHUKWU	Alba Party for independence	125
Michael Edward SHIELDS	Scottish Liberal Democrats	225
Ronnie STEVENSON	Scottish Trade Unionist and Socialist Coalition	153
Bruce WHYTE	Scottish Conservative and Unionist	975
	Total	11,358

Candidate Susan AITKEN Elected with 2,899 votes, being in excess of the quota of 2,272 Candidate Holly BRUCE Elected with 3,173 votes, being in excess of the quota of 2,272

This report contains the transfers results.

Stage 2 - Surplus of Holly BRUCE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	380	0.28395	107.90100
Transfer to Paul LEINSTER	1,539	0.28395	436.99905
Transfer to Aileen Mary MCKENZIE	415	0.28395	117.83925
Transfer to Chigozie Anne OSUCHUKWU	37	0.28395	10.50615
Transfer to Michael Edward SHIELDS	165	0.28395	46.85175
Transfer to Ronnie STEVENSON	249	0.28395	70.70355
Transfer to Bruce WHYTE	14	0.28395	3.97530
No further preference	374	0.28395	106.19730
Not transferred due to rounding			0.02665
	Total		901.00000

This report contains the transfers results.

Stage 3 - Surplus of Susan AITKEN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	203	0.21628	43.90484
Transfer to Paul LEINSTER	2,346	0.21628	507.39288
Transfer to Aileen Mary MCKENZIE	73	0.21628	15.78844
Transfer to Chigozie Anne OSUCHUKWU	44	0.21628	9.51632
Transfer to Michael Edward SHIELDS	29	0.21628	6.27212
Transfer to Ronnie STEVENSON	26	0.21628	5.62328
Transfer to Bruce WHYTE	12	0.21628	2.59536
No further preference	166	0.21628	35.90248
Not transferred due to rounding			0.00428
	Total		627.00000

This report contains the transfers results.

Stage 4 - Exclusion of Chigozie Anne OSUCHUKWU

145.02247

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	6	1.00000	6.00000
Transfer to Paul LEINSTER	40	1.00000	40.00000
Transfer to Aileen Mary MCKENZIE	12	1.00000	12.00000
Transfer to Michael Edward SHIELDS	7	1.00000	7.00000
Transfer to Ronnie STEVENSON	30	1.00000	30.00000
Transfer to Bruce WHYTE	6	1.00000	6.00000
Transfer to Stephen Ignatius DOCHERTY	3	0.28395	0.85185
Transfer to Paul LEINSTER	10	0.28395	2.83950
Transfer to Aileen Mary MCKENZIE	1	0.28395	0.28395
Transfer to Michael Edward SHIELDS	3	0.28395	0.85185
Transfer to Ronnie STEVENSON	3	0.28395	0.85185
Transfer to Stephen Ignatius DOCHERTY	5	0.21628	1.08140
Transfer to Paul LEINSTER	22	0.21628	4.75816
Transfer to Aileen Mary MCKENZIE	3	0.21628	0.64884
Transfer to Ronnie STEVENSON	4	0.21628	0.86512
No further preference	24	1.00000	24.00000
No further preference	17	0.28395	4.82715
No further preference	10	0.21628	2.16280
Not transferred due to rounding			0.00000
	Total		145 02247

Total 145.02247

This report contains the transfers results.

Stage 5 - Exclusion of Ronnie STEVENSON

261.04380

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	22	1.00000	22.00000
Transfer to Paul LEINSTER	55	1.00000	55.00000
Transfer to Aileen Mary MCKENZIE	35	1.00000	35.00000
Transfer to Michael Edward SHIELDS	13	1.00000	13.00000
Transfer to Bruce WHYTE	8	1.00000	8.00000
Transfer to Stephen Ignatius DOCHERTY	23	0.28395	6.53085
Transfer to Paul LEINSTER	83	0.28395	23.56785
Transfer to Aileen Mary MCKENZIE	50	0.28395	14.19750
Transfer to Michael Edward SHIELDS	15	0.28395	4.25925
Transfer to Bruce WHYTE	1	0.28395	0.28395
Transfer to Stephen Ignatius DOCHERTY	1	0.21628	0.21628
Transfer to Paul LEINSTER	8	0.21628	1.73024
Transfer to Aileen Mary MCKENZIE	3	0.21628	0.64884
No further preference	50	1.00000	50.00000
No further preference	80	0.28395	22.71600
No further preference	18	0.21628	3.89304
Not transferred due to rounding			0.00000
	Total		261.04380

Report Name: Transfers_V0001_Ward-7-Langside_06052022_165217.pdf Created: 06-5-2022 16:52:17

This report contains the transfers results.

Stage 6 - Exclusion of Michael Edward SHIELDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	45	1.00000	45.00000
Transfer to Paul LEINSTER	12	1.00000	12.00000
Transfer to Aileen Mary MCKENZIE	85	1.00000	85.00000
Transfer to Bruce WHYTE	38	1.00000	38.00000
Transfer to Stephen Ignatius DOCHERTY	30	0.28395	8.51850
Transfer to Paul LEINSTER	37	0.28395	10.50615
Transfer to Aileen Mary MCKENZIE	43	0.28395	12.20985
Transfer to Bruce WHYTE	6	0.28395	1.70370
Transfer to Stephen Ignatius DOCHERTY	3	0.21628	0.64884
Transfer to Paul LEINSTER	8	0.21628	1.73024
Transfer to Aileen Mary MCKENZIE	2	0.21628	0.43256
Transfer to Bruce WHYTE	1	0.21628	0.21628
No further preference	65	1.00000	65.00000
No further preference	67	0.28395	19.02465
No further preference	15	0.21628	3.24420
Not transferred due to rounding	10	0.21020	0.00000
	Total		303.23497

This report contains the transfers results.

Stage 7 - Exclusion of Bruce WHYTE

1,035.77459

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Stephen Ignatius DOCHERTY	232	1.00000	232.00000
Transfer to Paul LEINSTER	12	1.00000	12.00000
Transfer to Aileen Mary MCKENZIE	311	1.00000	311.00000
Transfer to Stephen Ignatius DOCHERTY	3	0.28395	0.85185
Transfer to Aileen Mary MCKENZIE	1	0.28395	0.28395
Transfer to Paul LEINSTER	3	0.21628	0.64884
Transfer to Aileen Mary MCKENZIE	1	0.21628	0.21628
No further preference	472	1.00000	472.00000
No further preference	17	0.28395	4.82715
No further preference	9	0.21628	1.94652
Not transferred due to rounding			0.00000
	Total		1,035.77459

This report contains the transfers results.

Stage 8 - Surplus of Stephen Ignatius DOCHERTY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul LEINSTER	64	0.03133	2.00512
Transfer to Aileen Mary MCKENZIE	1,828	0.03133	57.27124
Transfer to Paul LEINSTER	73	0.00889	0.64897
Transfer to Aileen Mary MCKENZIE	245	0.00889	2.17805
Transfer to Paul LEINSTER	94	0.00677	0.63638
Transfer to Aileen Mary MCKENZIE	43	0.00677	0.29111
No further preference	283	0.03133	8.86639
No further preference	121	0.00889	1.07569
No further preference	75	0.00677	0.50775
Not transferred due to rounding			0.02471
	Total		73.50541

This report contains the transfers results.

Stage 9 - Exclusion of Aileen Mary MCKENZIE

1,828.28986

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Paul LEINSTER	275	1.00000	275.00000
Transfer to Paul LEINSTER	217	0.28395	61.61715
Transfer to Paul LEINSTER	27	0.21628	5.83956
Transfer to Paul LEINSTER	313	0.03133	9.80629
Transfer to Paul LEINSTER	103	0.00889	0.91567
Transfer to Paul LEINSTER	18	0.00677	0.12186
No further preference	1,331	1.00000	1,331.00000
No further preference	293	0.28395	83.19735
No further preference	55	0.21628	11.89540
No further preference	1,515	0.03133	47.46495
No further preference	142	0.00889	1.26238
No further preference	25	0.00677	0.16925
Not transferred due to rounding			0.00000